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Both of them testify that she is married — >77702p WK nwWK2 7199110]

OVERVIEW

The X773 states that if one 7V testifies that a woman was divorced and another
contradicted him that she was not divorced, the rule is she may not remarry, and if
she remarries, she must leave her second husband. The X 11 gives the reason for
this ruling that since both 07y agree that she was an w°X nwX, therefore one 7V
alone cannot' counter the presumption that she was (and therefore is still) married.
MooIn has a difficulty in understanding this X723 whether it is a case where her
marital status was known (without these 2°7¥) or whether it was not known
(without these 0°7v).

moon asks:
— YN XY 9MMINY 1Y ININD 139 AT NN

It is astounding! Why do we need that 7¥ who claims the woman was not
divorced?!
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She will be required to leave the second husband even without the witness who
claimed nwaan1 X9. For no issue concerning illicit relationships can be
established with less than two witnesses. This woman was ostensibly known to be
married. An 7V claims that she was divorced. That 7¥ is insufficient to remove her marital status,
since 0 1wn Mo Myaw 127 PX. Therefore, even if she remarried based on the testimony of this ¥

TR (who was not contradicted), she will be required to leave her new husband. She is considered
an ¥R nNwX. We do not need this other 7 to claim 7w73n1 X7 in order to require her to be Xxn!

mooIN anticipates a possible answer:
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For we cannot answer that indeed we would have not known that she was

married, if not for their testimony. The proposed answer is that we assume that the case
at hand is where the marital status of this woman was unknown. Therefore she is not nwX npii2
X, only through the testimony of these two 2>7¥ (who both agree that she was a married woman
[prior to the alleged divorce]). If not for the 7v who said 7w1an1 X% she would be permitted to
remarry based on the X"¥ who claims 7w23nn an°n WX nwX. This is a regular 797 X177 70XW 797
naw. However, now that there is an 7% who contradicts the 7017 79, she cannot remarry.

mooIN rejects this answer:
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For if this were indeed so; that without these 0>7¥ the marital status of the woman

" An X"V is believed (13:2177) to testify that the husband died on account of 1327 72 12%PR X1y, However an
X"Y is not believed to claim that a woman was divorced (without producing the v3).
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1s unknown, then let us believe the 7v who claims she is divorced with a 13, for

he could have remained silent and not testify that this woman was (married and) divorced.
We do not know the status of this woman. If the one 7v who claims fw9an1 82 would testify, the
woman would be able to marry, for one 7¥ cannot place upon her an X"& 70X since MIYaw 727 X
o 1wn mino. The only reason she cannot remarry is because the 7°ni 7¥ is also testifying that she
was an X"X. However he has a 1n»; for if he wanted her to remarry, all he had to do was to not
testify at all, and the woman would be permitted to remarry. Therefore we must say that the
woman’s status was known, and therefore the 2°n»i7 7v has no . The question remains why it is
necessary to mention the 7087 7 at all; even without his testimony the woman is 710X to remarry
since 2°Iwn NMIND MAIYaw 127 X!

N1B0IN answers:
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And one can say, that indeed we are discussing a case where the woman’s status
1s unknown (otherwise there is no need for the 7017 7v), and as for the question
why is not the N1 ¥ believed with a P nw "y °X7 1°»; the answer is that it is
not a valid a°», for perhaps this 7v wants to testify that (she was married and
afterwards) she was divorced, in order to disqualify her from marrying into the

71972, Therefore there is no P°nw °y2 °R7 13°n, for if he would have been P nw she would be nMn
mn9% (even according to the 70w 7, if her husband eventually died). The 2°nni 79 however
may want to be 701 her 11757 therefore he states nwnani, and he is not believed since there is
another 7v who states 7w1an1 8% and >770np WOR DWRA 17°°17N.

[ MavIin
This is a @%w™ ndLIN.

SUMMARY

If it is known that a woman was married and an X"V testifies that she was
subsequently divorced (even if no one contradicts him), he is not believed. If the
marital status of the woman was unknown and two 2’7V (testify that she was
married, but) contradict each other whether she was divorced or not, she is deemed
to be married, and the 7N 7Y has no PnW °¥2 X7 13°», since his intention may be
to be 2019 her 71177377 7.

THINKING IT OVER

nooIn asked that if her status is unknown then the 2°n»i ¥ should be 1nX1 with a
PN >va X7 1. The answer was that there is no 13°», for he wants to be 901 her n
71707, What is the woman claiming? If she is claiming I was divorced, then she is
TN AMOKR, anyways; why should not the 2°n»i1 79 have the P>nw *va >k7 wn? If
she claims >nwpn1 ®Y then even if both 07y would state 7waan1 she would be
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71or.> For since she said *nw7pn1 XY it is obvious that according to her she was
never divorced, and since two 07V are testifying that she was an X"X, she is tacitly
admitting that she was never divorced!’

2 There is a similar case in 7. If a M2 claims >N 8> and two o7y testify that ¥y191 12, the M7 is 21 to
pay. For °ny1o X% 7282 017 82 9K 25 and 7"'va nR77 is stronger than the 0°7v who say v19. Here too, her
testimony of *NW7pnI X? is *NwIaN1 R? NI and is stronger than the 07y NXTY that mw-anl.

3 See m°wn NI 17 MIdwn and 75w MR 27,
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